
Grille Installation Instruction 
 

Part# GR14HFD97A&H Application For 2007-2009 Nissan Sentra Not For SER 

 

Page 1 of 2 

 

The instruction here is for your reference only. You may need to bend the billet grille bars or tabs a little bit to adjust 

to fit. We strongly recommend the professional installer for best result. Please use masking tape and tape the OEM 

grille shell along the edge to protect your vehicle during installation. We are not responsible for any damage caused 

by the installation. Thank you for choosing our product! 

Rev. 180601 

 

 

 

Parts 
List 

Item Part Name QTY Description Item Part Name QTY Description 

1 Billet Grille 1 Aluminum 5 Screws 2 #8×1″(#6 Head) 

2 U-Nuts  2 #8 6 Nylon Lock Nuts 2 6-32 

3 Machine Screws 2 6-32X1.5" 7 Extension Brackets(Short)   1  

4 L Brackets 2 1/2" X 1/2″ 8 Extension Brackets(Long)   1  

 
Install Notes:  Overlay                Replacement                 Drill                     Cut                            

Step Description illustration 

1 Identify the grille & hardware with parts list. 

 

2 Remove 4 clips from across the factory grille shell. (Fig 1) 

3 Behind the grille, remove a clip that is on the top edge of the factory shell. (Fig 2) 

4 Unclip 6 clips from around the lower factory grille and remove grille. (Fig 3) 

 

5 Place the U-nut where the hole on the L-bracket is. (Fig 4) 

6 Repeat for the 2 custom brackets. (Fig 5) 

7 Place the billet grille through the factory grille opening. (Fig 6) 

 

× 

× 

 

 

√ 

 
× 

 

× 

 



Grille Installation Instruction 
 

Part# GR14HFD97A&H Application For 2007-2009 Nissan Sentra Not For SER 

 

Page 2 of 2 

 

The instruction here is for your reference only. You may need to bend the billet grille bars or tabs a little bit to adjust 

to fit. We strongly recommend the professional installer for best result. Please use masking tape and tape the OEM 

grille shell along the edge to protect your vehicle during installation. We are not responsible for any damage caused 

by the installation. Thank you for choosing our product! 

Rev. 180601 

 

 

 

8 Place the #8 1.5" screws through the brackets that are along the bottom of the billet grille. (Fig 7) 

9 From behind the grille, place L-brackets on the screws you just placed. (Fig 8) 

 

10 Place the 1”Screw through the top bracket on the billet grille to thread the longer custom bracket. (Fig 9) 

11 Place back the factory clip onto the custom bracket. (Fig 10) 

 

12 Installation completed. 


